
Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1103_s / 1

a 107.4 + 57.2 + 24.54 =

b 29.38 + 400.6 + 918 =

c 350.8 + 74.09 + 5.61 =

d 223.6 + 90.79 + 37.44 =

189.14

1347.98

430.5

351.83



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1103_s / 2

a 46.49 + 16.84 + 96.7 =

b 30.8 + 298.4 + 4.8 =

c 53.15 + 89.6 + 71.06 =

d 52.3 + 42.57 + 637.3 =

160.03

334

213.81

732.17



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1103_s / 3

a 75.01 + 53.4 + 23.9 =

b 245.8 + 33.2 + 79 =

c 23.7 + 53.68 + 92.64 =

d 860.7 + 30.06 + 19.8 =

152.31

358

170.02

910.56



Wie groß sind die Summen? Notiere zu jeder Rechnung den Überschlag.

M1103_s / 4

a 54.48 + 17.06 + 83.5 =

b 14.8 + 54.2 + 40.66 =

c 229.1 + 55.34 + 79 =

d 64.93 + 278.7 + 20.37 =

155.04

109.66

363.44

364


